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2y 1.22% (-0.6bp)

Sy  2.04% (+1.7bp)
10y 2.56% (+2.0bp)
30y 3.14% (+1.8bp)
[7|Ef 10YE]

d= 1.40% (+0.8bp)
=g 0.26% (+2.1bp)
A 0.71% (+1.2bp)
O|Et2|0F  1.83% (+2.0bp)
AT QI 1.33% (-2.6bp)
dg|A 7.05% (+0.0bp)
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DOW30 19974.62 (+0.46%)
NASDAQ 5183.94 (+0.49%)
S&P500 2270.76 (+0.36%)

NIKKEI225  19494.53 (+0.53%)
SHANGHAI 3102.88 (-0.49%)

FTSE100 7043.96 (+0.38%)
DAX30 11464.74 (+0.33%)
CAC40 4849.89 (+0.56%)
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2=z/28  1.0389 (-0.0010)
s/ 12240 (+0.58)
e/ 117.81 (+0.69)
SHef/9IQF  6.9468 (+0.0156)
NDF 1192.50 / 1193.509..0.10 A=
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WTI 52.23 (+0.2%)
COMEXw 1133.60 (-0.8%)

5. 1E =W X&

[ALO  2041.94 (+0.17%)
AL 617.99 (-0.77%)
fI/eh8{  1193.40 (+6.50)
KTB 109.28 (-0.07)
LKTB 124.80 (-0.06)
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CD(91¢) 1.540% ( 0.0bp)

[2 1]

ly 1.5800%  (+1.20bp)
3y 17250%  (+1.80bp)
Sy 1.8850%  (+0.50bp)
10y 2.1770%  ( 0.00bp)
20y 22100%  (-0.50bp)
30y 2.2200%  ( 0.00bp)
50y 22150%  ( 0.00bp)
[S2txH]

ly 15700% (+1.00bp)
2y 16970% (+2.70bp)

7. 2 A%t ATpE

ly -6.00bp ( 0.00bp)
2y  -1570bp (-0.70bp)
3y  -1425bp (-0.55bp)
5y  -1825bp ( 0.00bp)
10y -27.20bp (+0.25bp)
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1Y 1.5100% (+1.00bp)
2Y 1.5400% (+2.00bp)
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3Y 1.5825% (+1.25bp)
5Y 1.7025% (+0.50bp)
7Y 1.7850% ( 0.00bp)
10Y 1.9050% (+0.25bp)
1*2Y  3.00 (+1.00bp)
2*3Y 4.25 (-0.75bp)
2*5Y 16.25 (-1.50bp)
3*5Y 12.00 (-0.75bp)
5*7Y 8.25 (-0.50bp)
5*10Y 20.25 (-0.25bp)
*CRS =2
1Y 0.8950% (-11.00bp)
2Y 0.9950% (- 9.00bp)
3Y 1.0950% (- 8.00bp)
5Y  1.2150% (- 4.50bp)
7Y 1.2200% (- 4.50bp)
10Y 1.2100% (- 4.50bp)
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